P ——

M Bracket - Front LH/RH
- R121

Specifications
Manufacturer R&R Products

Fits Models
Jacobsen Eclipse 122F

Jacobsen E-Plex
Jacobsen E-Plex I
Jacobsen Greens King IV
Jacobsen Greens King V & VI
Jacobsen G-Plex I
Jacobsen LF-100
Jacobsen LF-123
Jacobsen LF-128
Jacobsen LF-135
Jacobsen LF-1880
Jacobsen LF-3400
Jacobsen LF-3800
Jacobsen LF-4675
Jacobsen LF-4677
Jacobsen LF-550
Ransomes 250

Replacement Parts

R446136 Washer - Lock 5/16
Zinc

R453009 Washer - Flat 5/16 SAE

RMM602 Bolt - Carriage 5/16-18
x2Gr5

RMM603 Nut - Hex 5/16-18

Amacron Golf & Turf
19 Tate Drive Kerang, 3579
+61 28011 1001 Toll Free: 1300 AMACRON

https://amacron.rrproducts.com/




